
( f )

( b )

( b )

( a )

( c )

( e )

( d )
( c )

( d )
( e )

( f )

( g )

  1

  

  3

J - KIT  ASSEMBLING  MANUAL

Remove  part ( b ). 

1.
2.
3.

The lever should face up.

                                

1.

2.

3.
4.

           Move all the parts all the way into the lever to 
hold the brass olive ( c ) in place.           

Tighten part ( d ) with an 8mm wrench with 
7N-m torque to secure the hose so that there 
will be no leakage.

Move part ( e ) all the way to the lever.

(a)

(b)

(c)

(d)

(e)

(e)

(g)

Bleeding Block for lever

Nylon Screw

Brass Olive

Hose Screw

Plastic Sleeve

Hose Cap

Hose

(b) (c) (d) (e) (g)

1.
2.

(a)

f

(e)f

  3
  2

  1

il

  1

  3

  2

  3

                                                               
 ※

ToolsPart  name

5mm
Allen Wrench

8mm
Wrench

5mm

NHD04 - 01 - 03 - EN

Be sure the sealant is not damaged and is completely 
attached on the hose.

Allen Wrench

Remove and discard part ( a ).

Before starting maintain the brakes, please note that ONLY ALHONGA J-Kit accessories of HT472 / 474 / 372 and SHIMANO BH90 series are compatible.
To use other accessories from other brands can not ensure their function and safety.

Remove  part ( f ).

The sealant should completely 
cover the top of the hose.

Lift up the lever to avoid oil spillage.

Discard part ( b ).

Make sure parts ( e ), ( d ) and ( c ) are in this order 
on the hose. 

Discard part ( f ).

1

2

21

8mm

2

Place parts ( e ), ( d ) and ( c ) according to the 
diagram on the left.

  3  2  1

1



CALIPER  BLEEDING  MANUAL

Note: Evenly distribute force on pistons to prevent 
damage to the O-ring.

Push back the two pistons.

Insert the Multi-Functional Bleeding Block.

Put the pin back to temporarily hold the block.

Tools : 

1

1

2

4

5

6

T10

T15

5mm

5mm

  

654321

Al
len
 W
re
nc
h

x2

2

3

HOT

2-1

4

5

Flatten the pin.

Take out the pin.

Take out the disc pads.3

2-1

6

2

                                                               

x2
Ne
ed
le 
No
se
 Pl
ier
s

M
6 B
lee
di
ng
 A
da
pt
er
 M
6*
17
.3 

(F
or
 Ca
lip
er
+ 
Br
ow
n O
-ri
ng
)

M
5 B
lee
di
ng
 A
da
pt
er
 M
5*
13
.8 

 
 

 

M
ul
ti-
Fu
nc
tio
na
l B
lee
di
ng

Bl
oc
k a
nd
 Cl
am
ps

(F
or
 Le
ve
r+
 Bl
ac
k O
-ri
ng
)

Note: Before taking out the disc pads, make sure 
it has cooled down to prevent burns.

Using a 5mm Allen wrench to extract the caliper 
away from the adapter.

Sy
rin
ge
s a
nd
 PU
 Tu
be
s



CALIPER  BLEEDING  MANUAL

Screw on M6 bleeding adapter with a brown O-ring 
first.

Make sure there 
are no air bubbles
inside.

Connect the syringe with the mineral oil to the caliper.

100 mm PU Tube.

Screw on M6 bleeding adapter 
tightly with needle nose pliers 
to decrease oil spillage when filling.

11

12

Screw off the bolt with a T15 
wrench as pictured on the left.

Syringe Bleeding Preparations :

Caliper Preparations :

8

Take out the O-ring and discard it.9

The bleeding hole should face up 
to prevent oil leakage as pictured 
on the left.

Fill both syringes with mineral oil until 10ml.

10

7

11 12

3

5

6

7

il

Syringe Bleeding :

x2

7

10 ml10 ml

Caliper :
8

9

10 il

T15

T15

10 ml

                                                               

Open the clamp.

For
 Ca
lipe
r

For
 Bra
cke
t



BRACKET  BLEEDING  MANUAL

Tools : 

Do Not open or adjust the two bolts.

Screw off the bolt with a T10 wrench.

Take out the O-ring and discard it.

The bleeding port should face up to prevent 
oil spillage.

11 1-1

2
2

T10

T15

5mm   

654321

x2

3 5

4 3

4

Screw on M5 bleeding adapter with a black O-ring.5

4

T10

il

Lever preparations :

                                                               
其他廠商配件無法保證功能以及安全

Lift up the lever until it is horizontal.

x2
Ne
ed
le 
No
se
 Pl
ier
s

M
6 B
lee
di
ng
 A
da
pt
er
 M
6*
17
.3

(F
or
 C
ali
pe
r+
 B
ro
wn
 O
-ri
ng
)

M
5 B
lee
di
ng
 A
da
pt
er
 M
5*
13
.8

(F
or
 Le
ve
r+
 B
lac
k O
-ri
ng
)

M
ul
ti-
Fu
nc
tio
na
l B
le
ed
in
g

Sy
rin
ge
s a
nd
 P
U 
Tu
be
s

Bl
oc
k a
nd
 C
lam
ps

Al
len
 W
re
nc
h



BRACKET  BLEEDING  MANUAL

5

66 Connect syringe with the mineral oil to the M5 
bleeding adapter.

5

Make sure there are no 
air bubbles inside.

100 mm PU Tube.

Open the clamp.

Screw on M5 bleeding adapter tightly 
with needle nose pliers to decrease oil 
spillage when filling.

10 ml

                                                               



BLEEDING  MANUAL

Inject the oil into the caliper until 5mm, then inject the oil into 
the lever until 5mm. Repeat 7-10 times until there are no air 
bubbles.

After completing the bleeding 
process, close the clamp.

1. Remove the syringe from the 
     caliper first.
2. Remove the other syringe from the lever.

Make sure there are no air bubbles in the 
bleeding port then screw on the bolt.

Do Not go below 5mm to ensure
that air bubbles do not go in the 
hose.

HIGHT

Repeat 7 to 10 times. 
Tap the syringes and 
spin the caliper as well 
as pressing the brake.

1 ２

Adjust the lever to the preferred angle.

Bleeding Position.

Screw on M5 bolt with 
torque 2-3 N-m.

Screw on M6 bolt with 
torque 2-3 N-m.

Adjust the lever 
to the preferred 
angle.

3

3-1

3-2

6

※ Please refer to bracket 
      bleeding manual.

※ Please refer to caliper 
      bleeding manual.

Before starting the bleeding process,
prepare Gloves, Paper towel and 
Cleaning rag first in case of oil spillage.

Cal
ipe
r

Bra
cke
t

10 ml

10 ml

(5 mm)

5-7       N-m
50-70   Kgf-cm
43-61   in.1bs

                                                               

CAUTION :



BLEEDING  MANUAL

Adjusting  The  Caliper : 

Take out the block.

Flatten the two pistons in the caliper.

4

7

4

6-2

6-16-4

6-3

5
5

Install the disc pads.6 6

Assemble the disc pads as pictured on the right.6-1

Place the disc pads into the caliper.6-2

Put the pin back as pictured on the right.6-3

Bend the tip of the pin up to secure the disc pads.6-4

Put the rotor into the caliper and screw on 
the bolt with a wrench. There should be 
some space for the caliper to move.

7

Hold the brake so that the disc pads will hold 
the rotor at the same time screw on the bolt to 
hold the caliper. Then, release the brake and 
rotate the tire to check whether the disc pads 
interfere with the rotor.

※ Repeat steps                     until 
      there is no interference.                

8

If there are no interference or abnormal sound, 
then the bleeding process 
is complete.

9

7 8

9

Screw

Screw

5mm

5mm

6-8       N-m
60-80   Kgf-cm
52-69   in.1bs

6-8       N-m
60-80   Kgf-cm
52-69   in.1bs

6-8       N-m

60-80   Kgf-cm

52-69   in.1bs

                                                               

7 8

No Interference

Reserved adjust the space

Grab the brake

Disc pads hold the rotor 



2

13-1

3

CHANGE  DISC  PAD  MANUAL

Evenly distribute force on pistons to prevent damage 
to the O-ring.

Flatten the two pistons in the caliper in order to install 
the new disc pads.

Before changing the new disc pads, make sure the 
rotor and the disc pads have cooled down to prevent 
burns.

Flatten the pin.

Take out the pin.

Take out the old disc pads.

Make sure the thickness of the disc pads is not worn 
down 0.5mm. We recommend changing the disc 
pads when their thickness is between 0.5mm-1mm.

DO NOT leave oil stains or dust on the new disc pads.

0.5mm

1

2

HOT

1

1

Make sure that the new disc pads have no oil stains 
or dust.

Assemble the new disc pads as pictured on the left.

Place the new disc pads into the caliper.

Put the pin back as pictured on the left.

Bend the tip of the pin up to complete the changing 
of the new disc pads.

1

2

3

3-1

1

2

1-1

1-1

il

                                                               

8



※ Repeat steps                     until 
      there is no interference.                

ADJUSTING  THE  GAP  OF  THE  CALIPER  AND  THE  ROTOR

1

Put the rotor into the caliper and screw on the 
bolt with a wrench. There should be some space 
for the caliper to move.

2

Hold the brake so that the disc pads will hold the 
rotor at the same time screw on the bolt to hold 
the caliper. Then, release the brake and rotate the 
tire to check the disc pads do not interfere with the 
rotor.

3

If there are no interference or abnormal sound, then 
the adjusting is complete.

4

Adapter
Frame

2 3

Disc pads hold the rotor 

4

Screw

Screw

5mm

5mm

Using a 5mm Allen wrench screw the adapter 
and the caliper together.

5mm

x4
6-8       N-m
60-80   Kgf-cm
52-69   in.1bs

                                                               

9

2 3

No Interference

Brake the lever

Reserved adjust the space



HT474 HT472 HT372 JR

1

2

3

ADJUSTING  THE  DISTANCE  BETWEEN  THE  HANDLE  BAR  
AND  THE  BRAKE

※ If there is a preference to change the standard 
     distance, make sure the caliper and the lever are 
     assembled.

※ Due to Nylok screw, screw it hard when 
     decreasing the standard distance.

Adjust clockwise to 
increase the standard 
distance.

Adjust this bolt

Adjust counterclockwise to 
decrease the standard 
distance.

 HT474  RECOMMENDED  DISTANCE  IS 
85 ~ 95 (mm)

 HT474  RECOMMENDED  DISTANCE  IS 
80 ~ 95 (mm)

 HT372 JR  RECOMMENDED  DISTANCE  IS 
75 (mm) AND BELOW

STANDARD DISTANCE
 90 mm

STANDARD DISTANCE
 90 mm

STANDARD DISTANCE
 75 mm

 9
0

75

 9
0

 9
0

2mm

 9
5

 8
5

 8
0

 9
5

 9
0

 9
0

 9
0

75

                                                               

10


	1 - 快接組裝說明書-中文版
	2 - HT47_ 卡鉗 注油說明書 - 中文版 - 1
	3 - HT47_ 卡鉗 注油說明書 - 中文版 - 2
	4 - HT47_ 油壺 注油說明書 - 中文版 - 1
	5 - HT47_ 油壺 注油說明書 - 中文版 - 2
	6 - HT47_ 注油說明書 - 中文版 - 1
	7 - HT47_ 注油說明書 - 中文版 - 2
	8 - HT472-474-372  OD04 更換來令片說明書-中文版
	9 - HT47_ 調整卡鉗及碟盤間距 - 中文版
	10 - HT47_ 油壺 握距調整說明書 - 中文版

